
VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 

 
 
 

VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 

 
 
 

VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 

VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 

 
 
 

VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 

 
 
 

VENT TUBE FUEL RESTRICTORS 
P/N 26-342 (black anodized) 

P/N 26-343 (black anodized w/ hose barb) 

 
1. The vent tube fuel restrictors are a three-piece unit; the 

upper part, center part, and lower compression nut fitting. 
2. Insert the unit over any standard 5/16” vent tubes.   
3. Vent tube must be at least 1/2” tall, from the base to the 

upper opening. 
4. While holding the top part of the restrictor with a 9/16” 

wrench, tighten the lower compression nut fitting with a 
9/16” wrench.  Do not overtighten. 

5. Pull up on the fitting after tightening to ensure that it’s 
secure on the vent tube.  Periodic flushing with carb cleaner 
is recommended. 

WARNING!  The vent tube fuel restrictors have been 
assembled with Loctite® 271 and staked.  UNDER NO 
CIRCUMSTANCES SHOULD THE UPPER PART AND THE 
CENTER PART EVER BE DISASSEMBLED. 

For Technical Support:  1-866-464-6553. 
199R10664                                                                   6-19-13 


